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TOPIC :- PERIODIC TABLE

SUB TOPIC :-
Ionisation Potential/Ionisation Enthalpy



Practice Sheet :- 2
1.In which of the following pairs, the 

Ionisation energy of the first species is 
less than that of the second?

 fuEu esa ls fdl ;qXe esa izFke Lih'kht dh vk;uu

ÅtkZ f}rh; Lih'kht dh vk;uu ÅtkZ ls de gS\

(1) O+, O         (2) S, P       

(3) N, P          (4) Be+, Be



SHIVALIK

2. Correct order of Ionisation enthalpy  
is:-

vk;uu ,UFksYih dk lgh Øe gS%&

(1) Be < B < C < N < O

(2) B < Be < C < N < O

(3)Be < B < C < O < N

(4) B < Be < C < O < N

)  

NEET/AIIMS/IIT-JEE FOUNDATION,BEHROR



SHIVALIK

3. Alkali metals in each period have.

(1) Smallest Size

(2) Lowest Ionisation potential

(3) Highest Ionisation Potential

(4) Highest Electronegativity

 izR;sd vkorZ esa {kkj /kkrqvksa dk@ dh&

¼1½ lcls NksVk vkdkj gksrk gSA

¼2½ lcls de vk;uu foHko gksrk gSA

¼3½ lcls vf/kd vk;uu foHko gksrk gSA

¼4½ lcls vf/kd fo|qr _.kkRedrk gksrh gSA
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SHIVALIK

4. Which of the following transitions, involves 
maximum amount of energy.

 fuEu esa fdl laØe.k esa lokZf/kd ÅtkZ iz;qDr gksrh

gSA

(1) M-(g) M(g)    (2) M(g) M+(g)

(3) M+(g) M+2(g)   (4) M+2(g) M+3(g)

NEET/AIIMS/IIT-JEE FOUNDATION,BEHROR



SHIVALIK

5 . Among the following options, the sequence of 

increasing first Ionisation potential will be:-

 izFke vk;uu foHko dk c<+rk Øe gksxk%&

(1) B < C < N   (2) B > C > N 

(3) C < B < N  (4) N > C > B
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SHIVALIK

 6. The Ionisation energy of nitrogen is larger than 
that of oxygen because of:-

(1) Greater attraction of Electrons by the nucleus.
(2) The size of nitrogen atom being smaller
(3) The  half - filled  p – orbitals passess extra   
stability
(4) Greater penetration effect.
 ukbVªkstu dh vk;uu ÅtkZ vkWDlhtu ls vf/kd gS D;ksafd%&

¼1½ ukfHkd }kjk bySDVªkWu dk vf/kd vkd"kZ.k

¼2½ ukbVªkstu ijek.kq dk vkdkj NksVk gksuk

¼3½ v)Ziw.kZ& P &d{kdksa dk vfrfjDr LFkkf;Ro

¼4½ vf/kd Hksnu izHkko
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SHIVALIK

 7. Ionisation energy in group IA varies in the decreasing 
order as-

 IA  lewg esa vk;uu ÅtkZ bl Øe esa ?kVrh gS%&

(1) Li > Na > K > Cs             (2) Na > Li >  K > Cs

(3) Li > Cs > K > Na            (4) K > Cs > Na > Li 
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SHIVALIK
 8. A  A+ + e-, E and A+

 A+2 + e-, E2. The energy 
required to pull out the two electrons is E1 and E2

respectively. The correct relationship between two energy 
would be:-

 A  A+ + e-, E rFkk A+
 A+2 + e-, E2 bysDVªkWu fudkyus ds

fy, ÅtkZ;sa Øe'k% E1 rFkk E2 gS bu nksuksa ÅtkZvksa esa lgh lEcU/k 

gksxk%&

(1) E1 < E2 (2) E1 = E2 (3) E1 > E2 (4) E1 ≠ E2
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SHIVALIK

9. The first Ionisation energy of boron is less than of 

Beryllium because:-

(1) Boron has higher nuclear charge.

(2) Atomic size of boron is more than that of beryllium.

(3) Boron has only one electron  in p- subshell.

(4) Atomic size of boron is less than that of beryllium

 cksjkWu dh izFke vk;uu ÅtkZ csfjfy;e ls de gSA D;ksafd&

¼1½ cksjkWu ij mPp ukfHkdh; vkos'k gSA

¼2½ csfjfy;e ijek.kq ls cksjkWu dk ijek.kq vkdkj cMk gSA

¼3½ cksjkWu dh P- mid{kk esa dsoy ,d bysDVªkWu gSA

¼4½ cksjkWu ds ijek.kq vkdkj csfjfy;e ijek.kq ls NksVk gSA
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SHIVALIK

10. The correct order of second Ionisation 
potential of carbon,  nitrogen, oxygen and 
fluorine is:-

dkcZu] ukbVªkstu] vkWDlhtu ,oa ¶yksjhu ds f}rh; 

vk;uu foHko dk lgh Øe gS%&

(1)  C > N > O > F        (2) O > N > F > C

(3) O > F > N > C         (4) F > O > N > C
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SHIVALIK

11. The first Ionisation potential in electron volts 

nitrogen and oxygen – atoms are respectively given by:-

 ukbVªkstu ,oa vkWDlhtu ijek.kqvksa ds izFke vk;uu foHko dk bySDVªkWu

oksYV esa Øe'k% eku gS%&

(1) 14.6, 13.6           (2) 13.6, 14.6

(3) 13.6, 13.6          (4) 14.6, 14.8
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SHIVALIK 

12. Atomic radi of fluorine and neon in Angstron Unit 

are respectively:-

(1)  0.72, 1.60           (2) 1.60, 1.60

(3) 0.72, 0.72            (4) None of these

 ¶yksjhu vkSj fu;kWu dh ijek.kq f=T;k vkWxLVªke bdkbZ esa Øe'k gS%&

(1)  0.72, 1.60           (2) 1.60, 1.60

(3) 0.72, 0.72 (4) buesa ls dksbZ ugha
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SHIVALIK

13. Which of the order for ionisation energy is 
correct?

vk;uu ÅtkZ dk lgh Øe gS%&

(1) Be > B > C > N > O    (2) B < Be < C < O < N

(3) B < Be < C < N < O       (4) B < Be < N < C < O 
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SHIVALIK

14. Which of elements Na, Mg, Si and P would 
have greatest difference between first and 
second Ionisation enthalpies-

Na, Mg, Si and P esa ls fdl rRo ds fy, izFke o 

f}rh;d vk;uu ,UFksYih ds e/; vUrj vf/kdre gS%&

(1)  Na              (2) Mg      (3) Si        (4) P
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SHIVALIK

15. The first Ionisation energy of Mg, Al P and 
S follows order-

Mg, Al, P rFkk S rRoksa dh izFke vk;uu ÅtkZ dk Øe

gksxk%&

(1)  Mg > Al < P < S            (2) Al < Mg < P < S

(3) Al < Mg < S < P             (4) Mg < Al < S < P

NEET/AIIMS/IIT-JEE FOUNDATION,BEHROR



SHIVALIK

16. Ionisation energy is not influenced by:-

(1) Size of atom                   

(2) Effective nuclear charge

(3) Electrons present in inner shell

(4) Change in entropy

 vk;uu ÅtkZ fdlls izHkkfor ugha gksrh gS%&

¼1½ ijek.kq dk vkdkj

¼2½ izHkkoh ukfHkdh; vkos'k

¼3½ vkarfjd dks'k ds bysDVªkWu

¼4½ ,UVªkWih esa ifjorZu
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SHIVALIK

17. Which of the following generally decrease in going 

down the halogen group?

(1) Ionic radius                    (2) Atomic radius

(3) Ionisation potential       (4) Boiling point

 fuEu esa ls dkSu&lk gSykstu oxZ ds uhps tkus ij ?kVrk gS%

¼1½ vk;fud f=T;k ¼2½ ijek.kq f=T;k

¼3½ vk;uu foHko ¼4½ DoFkukad
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SHIVALIK
18. The Incorrect statement among the following is:-

(1) The first Ionisation potential of Al is less than the first 
Ionisation potential of Mg.

(2) The second Ionisation potential of Mg is greater than the 
second Ionisation potential of Na.

(3) The first Ionisation potential of Na is less than the first 
Ionisation potential of Mg.

(4) The third Ionisation potential of Mg is greater than third 
Ionisation potential of Al.

 fuEu esa ls vlR; dFku gS%&

¼1½ Al dh izFke vk;uu ÅtkZ] Mg dh izFke vk;uu ÅtkZ ls de gSA

¼2½ Mg dh f}rh; vk;uu ÅtkZ] Na dh f}rh; vk;uu ÅtkZ ls vf/kd gSA

¼3½Na dh izFke vk;uu ÅtkZ] Mg dh izFke vk;uu ÅtkZ ls de gSA

¼4½ Mg dh r`Rkh; vk;uu ÅtkZ] Al dh r`rh; vk;uu ÅtkZ ls vf/kd gSA
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SHIVALIK

19. The Ionisation energy will be 
maximum for the process:-

 fdl izØe ds fy, vk;uu ÅtkZ dk eku vf/kd gSA

(1) Ba Ba+          (2) Be  Be+2

(3) Cs  Cs+                             (4) Li  Li+
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SHIVALIK

20. First Ionisation energy is lowest for:-

 izFke vk;uu ÅtkZ fdlds fy;s U;wure gS%&

(1)  Lead         (2) Carbon     (3) Silicon      (4) Tin
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